
Answer of Ex 2b

6)
Write down the first four terms of the expansions of 
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 and state the range of values of x which the expansion is valid:


Ans:



[image: image2.wmf]3

1

)

1

(

-

-

bx

 = 
[image: image3.wmf](

)

(

)

....

)

(

!

3

2

3

1

1

3

1

3

1

!

2

1

3

1

3

1

3

1

1

3

2

+

-

÷

ø

ö

ç

è

æ

-

-

÷

ø

ö

ç

è

æ

-

-

÷

ø

ö

ç

è

æ

-

+

-

÷

ø

ö

ç

è

æ

-

-

÷

ø

ö

ç

è

æ

-

+

-

÷

ø

ö

ç

è

æ

-

+

bx

bx

bx


= 
[image: image4.wmf](

)

....

!

3

3

3

3

)

7

)(

4

)(

1

(

!

2

3

3

)

4

)(

1

(

3

1

3

3

2

2

+

-

´

´

´

-

-

-

+

´

´

-

-

+

+

x

b

x

b

x

b

 = 
[image: image5.wmf]....

81

14

9

2

3

1

3

3

2

2

+

+

+

+

x

b

x

b

x

b


The above expansion is valid when 
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10)
Expand 
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as far as the term in 
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. Given the range of permissible values of x.

Ans:
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The above expansion is valid when |3x| < 1 and |2x| < 1, i.e. |3x| < 1

∴The range of permissible values of x is 
[image: image14.wmf]3

1

3

1

<

<

-

x


15)
Expand the function 
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 in series of ascending powers of x as far as x2.


Ans:
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19)
Find the numerical values of a and b if in the expansion of 
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 there are no terms in x or x2.
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Since there are no terms in x or x2, we have

a + 2 = 0 and b + 2a + 3 = 0,

∴ a = -2  and  b = 1.

Answer of homework Ex 2b
Page 1
3-10-2001


_1063046602.unknown

_1063047546.unknown

_1063048344.unknown

_1063048681.unknown

_1063048775.unknown

_1063049038.unknown

_1063048757.unknown

_1063048570.unknown

_1063047941.unknown

_1063048104.unknown

_1063047845.unknown

_1063046890.unknown

_1063047527.unknown

_1063046722.unknown

_1063046261.unknown

_1063046478.unknown

_1063046575.unknown

_1063046401.unknown

_1063045322.unknown

_1063045764.unknown

_1063044312.unknown

